2
s=
=

¥

s R —

£ P EL L P FCE AR5

AR Sk R

* Pt 2

¢ EARLI6E R

0o00o0o00boOo |33033100101 g g
gooogo gooo-obgn g Hobbbbod g 435400
ooooooOo ooooooooOoUobooOooU0OooOooO00oEUOoDOoOoUOoDbOOoO)pOoUobOOoDUoDOoo
googo
U
U
U
U
U
O
o0oobd0 Ooboobobobobbooboobooboboo
goooo oo oo RN oogd oooood
oo 4,354,000|0 O 4,354,000
010000 O 4,163,000|0 O 4,163,0000
goosooonoOonoO 2,208,000
g 1 2,208,000 2208000000 00DOODOO
oo
goiosooonoogon 549,000
U 1 549,000 49,0000 00 00OD0ODOODO
go11100d 804,000
O 1 459,500 45950000 0000000000
ood
g 1 344,500 dg45000 00000000000
ooooo
go2z1000o0 48,000
O 1 48,000 o000 0D bOoboOoOoDnd
googoo
gosiooogon 158,000
g 1 158,000 158000 0D O0D0O0ODOODOO
googog

|

25

=

A E T — 7

310-1



2
s=
=

¥

s R —

& ERE & g iRt
. Jr=>L > ) B 2 1 & 7 4 2
}%‘»l\’-’ 3 ]3 %'ft_ﬁ_l;_‘ pj?\ P\ # p SH)
£ F{106% B L L
ooooo 00 00 00 0oo oooooo
00142000000 152,400
0 1 152,400 1524000 00000000000
0ooooo
001510 0 243,600
0 1 121,200 1212000 00000000000
0ooooo
0 1 27,600 27,6000 00000000000
0oo0
0 1 56,400 56,4000 00000000000
0ooooooo
0 1 38,400 384000 00000000000
0ooooo
0200 0 0 O 191,000(0 0 191,0000
00241000 66,000
0 1 66,000 66,0000 00000000000
0@OoO00sM000000
0x0000000*0)0
0027100 47,500
0 1 47,500 475000 0000000000
0o
0027900000 17,500
0 1 6,000 60000 00000000000
(00000000000
0oooo)o
0 1 3,500 35000 00000000000
0oo0o0O0oooo
0 1 8,000 80000 00D 0OO07000
000000000000
(4*2,000=8,00001 )0 0 O 4
0o
00298000 60,000
0 1 60,000 60,0000 00000000000
ooooooo

25
T

FT

—

A w —

310-2



EMELE 2 5T

AT ERPRE Y

G

2,
A

W

¢ EARLI6E R

O000o00DoOo 33033100402 g g
gooogo gooo-obgn g Hobbbbod g 251200
ooooboob 1gboogboz2000b0ooog3ooooob400booos0boonog
U
U
U
U
U
O
oooobdo0o 10bo0obobobobooobooboobobooobooboobobDooboobOo200b00O0
ooooboobobbobooobsoobooboboooboobooboboooboobon
oooobogooo
goooo oo oo RN oogd oooood
oo 2,512,000|0 O 2,512,0000
010000 O 30,000|0 [0 30,0000
gosiooogn 30,000
g 1 30,000 oooombuonOobobOOobDOn
gooobooboooDg
gooooboooogd
02000 00O 2,482,000|0 O 2,482,0000
goz010OoOoOn 10,000
g 1 10,000 o0 b O0ObDOObDOn
googoogn
goz02000 80,000
g 1 80,000 goooo 0 noOonooOonoOoDnn
oogd
go2030 00 61,000
O 1 10,000 oo bObD0ooboooobDon
gooobooobooog
googo
O 1 5,000 so00b0OonoOobooooon
ooooog

310-3



iT

goooo

gdn

ggoooo

0022100000

00231000

o249 onon

0027100

go2/on0oonog

1,018,716

1,012,318

630

1,422

15,600

54,818

20,000

69,000

50,000

46,000

630
630

1,422

1,422

2,031,034

1,018,716

1,012,318

90,418

15,600

54,818

20,000

122,000

69,000

50,000

gooooooboooog
goooobgooo

gbooobooobooog
gogno

goooboobooooon
gd

gooooooboooog
1860 O 20 O O 32,3080 (T
O20)0 0775392000 0O
0 00 96,9240 O O O 60,000
googassd4dood
48,0000 )0

ooooooobooobg
1840 0 20 0 0 32,0710 (O
020) 007697040000
0 0 96,2140 0O 0O O 60,000
googassd4dood o
48,0000 )0

gooobooobooog
oo

gooooooboooog
gooobooobooog
gooobgooboboo
gooobooobooog
gooobooobooog
gooooboooog

ooooooobooobg
gooobogooboboo
oooooooboooog
googoogn

gooobooobooog
000000 @260%220 *120
=68,64000 0000000

oo

gooooooboooog
gooobooobooog

god

310-4



s Jr =21 > 2, 7 4
& T
P ER ®106E B L R S
ooooo 00 oo 0o 000 0Dooooo
0 1 3,000 3000000000ICODOO
000000000
002820000000000 5,496
O 1 3,400 34000 00000000000
oo
O 1 2,096 2060 00000000000
O0O0000D000000
ooooo
002830000000000 32,000
O 1 32,000 320000 00000000000
D00000D00000O
D000000O00O0O0
002910000 48,000
0 1 48,000 480000 00000000000

goggoooo

310-5



S B MR e — R N e

EPELL S g E Fxr

A Tl it

* Pt 2

¢ EARLI6E R

000000000 (33033109011 oo oo
ogooon goododoo-oooooon oo R oo 63DDJ&
+
gooodoon oobooooodoboliboobooooodobooioooooooooilgo ]_»;1
%
—:‘I
%
|
2
i
O %
O &
: i
O £
a %
0
Ooododono oobooooooooboooooooooooooo
goooa oo oo oad oo gooodoo
oo 63,000(1 O 63,0000
o000 0on 63,000|1 [0 63,0000
go30s00000 63,000
a 1 63,000 63000000000 OOOonoOooO

oo

310-6



SR o — S e o G )

&P ERE 2 FCE AT
RO FRPBREE LIS P ik

¢ EARLI6E R

0o00o0o00boOo |33033109012 g g
gooogo goooboo-0bgn g Hobbbbod g SODDJ&
+
oooooono 1g0ogoestounooboand ]_»;1
z
—:‘I
#
!
¥
B
O ®
O ]
U
U
U
U
oooobdo0 Oobooboobobooboobooo
goooo g g ug gdn ggoooo
oo 50,000(0 OO0 50,00001
oo 000D O 50,000|0 [0 50,0000
goee 0 0onooona 50,000
g 2 25,000 so,000.00000O9OOOOO2

O (2*25,000=50,00000 )

310-7



